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13. Übungsblatt (20.06.2022)

Übung 13.1. Bestimmen Sie für die folgenden Di�erentialgleichungen jeweils die
allgemeine Lösung.

(a) y′′ + y = x+ 2x2 + cosh(x) ;

Antwort: y(x) = c1 cos(x) + c2 sin(x) + 2x2 + x− 4 +
1

2
cosh(x)

(b) y′′ − 4y′ + 4y = (x2 + 3)e2x sin(2x) ;

Antwort: y(x) = (c1 + c2x)e
2x − 1

2
x2e2x cos(2x)− (

1

4
x2 +

3

8
)e2x sin(2x)

(c) y(4) + 2y(3) + 2y′′ = e−x sin(x) + 2xe−x + 3ex ;

Antwort: y(x) = c1 + c2x+ c3e
−x cos(x) + c4e

−x sin(x) + 4e−x +2xe−x +
3

5
ex +

1

4
xe−x sin(x) ;

(d) y′′ + y =
1

cos(x)
, 0 < x <

π

2
.

Antwort: y(x) = c1 cos(x) + c2 sin(x) + cos(x) ln(cos(x)) + x sin(x)

1


